SECTION-T: CHHILD PSYCHOLOGY & DEVELOPPMENT PEDAGOGY,

TEACIHING LEARNING FRIOCESS
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Who said : "Language depends
upon thinking"

(A) Vygotsky
(B) Piaget
(C) Watson

(D) Baron

In which of the following stages

children become active member of

their peer group ?
(A) Adolescence

\B) Adulthood

(C) Early chilr..lhuod

(D) Childhood

The process by which the solution
of a problem suddenly Lecomes

clearis known as:
(A} Aha expericnce
(B) Thinking

(C) Reasoning

(D) None ofthese
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is not related to memory ?

(A) wFarA (A) Identification
(B) ymon (B) Netention
(C) §3: & (C) Reeall

.(D) 3rqfa . (D) Feeling

1l gﬁgmnﬁ-—;mrmmmqﬁ:'u' 11,

Which intelligence theory supports
IR fafre 3z g = Iufeufa 1

the general intelligence 'G' and

™ T € 2 specificintelligence 'S’ ?
(A) TR | famm

(A) Theory of Gardner
(B) frerets =1 fogrs (B) Theory of Guilford

(C) Wt w1 fazm ‘_O:/Thc-ory of Spearman

(D) =1 @1 fazm (D) Theory of Vernon

12. e fraram gm T 5 /1 | 120 Whichofthe following is developed

o e w2 g among children through group
‘ nctivities ?

(A) A= (A) The sprit of leadership

(B) weqm (B) Co.operation

(C) 2FamaA (C) Discipline

(D) 3ynE A (D) All of above
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. All
A mentally retarded child's 1.Q.- W

be :
(A) 91-110
U:H/lwlnw 70

(C) 71.-90
(D) above 130

First Intelligence Test was

developed by whom ?
(A) McDougall

{B) Terman
( inet

(D) None of these

Every learner is unique means
that :
(A) Learncrs do neither huve any

commen qualities, nor do they
share common goals

(B) A common curriculum for all
learners is not possible

(CY Ttisimposcible to developthe
potential of learners in a
hetetepgeavous olass

*N2) No twa learners are alike in
their abilities, interest and
talents

P.T.O.
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Which of the following is not ¢

biological or natural motive 7

(A) Hunger
(B) Thirst
I labit
(D) Sleep

According to Piaget, first stage of
Cognitive developmenl is:

(A) concrete operationnl stoge
U‘:l}":cnanr_\' molor stage

(C) pre-operational stage

(D) formal uperational stage

The Insight theory of learning is
promoted by : '

WA) Gestalt theorists

(3) Pavlov ¢

(C) Jean Piaget ¢

(D) Vygotsky ¢
Learning disabilities related to
mathemntics are called :

(A) Dyslexin
(BY Dyscaleulin
(C) Dysgraphin

(1)) Dyspraxin
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Who created the concep!
Kindergarten ?

(A) Montessori

(B) Dewey

(C) Rousseau

Mrnbel

Assessment for learning takes

account of following, except :

(A) Needsofstudent

(B) Mistakes of student

(€Y Learning styvles of studer

(D) Strengths of students

A teacher uses nudio-visual

and activities in her teacl

because they :
(A) Provide reliefto the teac!
(B) Facilitates effective nssess

(C) Provide g diversio;

learners

‘(Dl/Utilise maximum no, of &

to enhance leaming

- A
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Where was the first | 'H}"‘"I"I“Rid

experimentanl laboratory sey '-'Pi
(A) Rerlin
(B) Baston

¢ Indm

\h‘/].l-ipzig; Germany

@ Our lavourable apinion oneself i

called :
l.M/arlI'mtt-r'm

(B) selfconscioueness
(Cr sellefMicacy

(D sellmonitoring

What is the smallest unit of the

nervous system ?
(A) Dendrite
(B) Cell body

(C1 Axon

UMW Neuran
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t11)

Which one is the correct stage for

industry v/s inferiority in Erikson’s

psychosocial theory ?

(A} 2ycars

(B} G-12 years

(€Y 13-18 yeurs

(D) 3-5 years

What is conditioned stimulus in
Pavlov's conditioning theory 7

(A) Bell

'LB/E'uud

(C) Salivation

(D) None of these

Whose component is encoding ?

(AL Mativation

(B) Learning

‘B/h;t' mory

(D) Interest

P.T.O.
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Who gave the cancept ﬂrCﬂncm‘

Abstract and Social lnlelligencté

|
(3 Thorndike

|
(B) Skinner
(C) Stern

(D) Terman

Which of the following is
responsible for transmission of
different capabilities of human
beings ?

(A) Cell

@O Gene

(C) Chromosome

(D) Environment
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(B) CH, 73

1C) CIt, 7m

a1.
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The band order of O,* in:
mﬁ

(B) 1.5
c) 2

1 25

O
In homologous l\ . the two

conseculi m@oﬁm sdilferby:
Q Glchﬂlp
1 I

Cll; group

(C) CH, group

(D‘(CH Rroup

Mulachite is an vreof:

(A) lron
l‘(ﬂnppar

\C) Mercury

(D Zine
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7
(A} CClI,
(B) .CH.C,
(©) CHCL,

(D) CH,CI

114)

34.  Polytetrafluoroethylene, PTFE s

used in:

(A1 Non.stick cooking pans
( }{ Bessemuer converter

(C) Bleaching powder

(D) Car engines

The reaction between Aleohol and

Carboxylic ucid is called :

IA) Hydrolysis reaction

{!,H,Euleriﬁtnlinn reaction

(C) Ammonolysis renction

(D) Hydrogenation reaction

J6.  Whichoneofthe following has the

highest dipole moment ?

w/ cel,

(B) CH,CI,
(C) CHCl,

(D) CIi,CI
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05 Ethyl alcohol is called :
(A1 power nleohol

(1) methylated spirit

(C) absolute nkenhol

(N rectifivd sparit

Muximum  percentage of

Palyunsaturated fatty acid is found
in

Ay Coconut mil

IV Soyabean oil
1 SunNower vil

I Groundnut oil

How many ions are produced from

the enmplex I(.‘OlNHulEICII in
solutiog ?

b\‘f'li
(" 4
i 3
(2

The melting point of iais:
(A) 27316 K
(B 27346 K
W 27348 K
(D 27302 K

PTO.
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(A} Poise
(B! Km
(C) ms o
(D) dynes
(16)

An aqueous solution of Boray

1S
(A} Neutral

(B Amphoterie

© Basic

M Aeidic

A reaction, A+B —s CsD + qis
found to have » positive entropy
chunge. The reaction will be -
Al possible ut high temperature
(BY possible ut low temperature
1C) not

porsible  at  any

temperature

(D1 possible at any temperature

Unit of Viscosity is :

(A1 Poise

(B! Km



e oxides 1S
frafafery wfwmes 1 @ W A 44.  Which of the following
8

R
wAm oy strongly acidic
AL POy, WA POy,

B S0,

i R0,
1O CLO, 1C1 €104

D1 ALD, \-IH(:“':U.I

45 HOVTE WO am ¢ 2 45,
1A MgS0,
B) MgSO0, 211,0

The formula of Epsom salt is
1A} MpSO,
(B) MeSO, 2H,0

CAALSO, TH,0
(M MgsO, 1,0

W ‘.\lnSUi 7II;0
(D) MgSO, 11,0

A FETE g o A ow w2, | 46 The regtion closest to enrth's surfuce

i
VAL N lM‘f’mlmnplmrr
(B sy ‘Bl Mesosphere
(C) fmgreR (€3 Thermosphers
(D) wEATTETZH

D Stratosphers

7. TR uE vAetEE dfter @ owmom | g7

lll'f‘ 1’: hﬂ ETII:“ n 'H'FH l&_ iil f‘lut": dll“lllt‘ﬂ rur wor’. IU'C. Il'“.'l'l on
fim wfefan e 1 = 7l . 60*C the rate

The rate of chemieal reaction

ol resction will
Inerense by wbhoyy -
(A N T

(A 320 imes

i w4 2T W61 timey
W) 128z C) 128 times
D 20z D1 20 timen
(17
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(C) FHA g weETT RN T
sl (C0) s TR
am (11,0)
(D TImE "W
WA W M| R wT @ T F | 50,
am A A W ud3 T oW R A
¥ | ne tetedor 1 2 faw o
A RTME ?
A T
(B) TR
(C) fFm
Dy T
i 1R )

taking powder is a nuxture of

(A) Buking soda und Toartargy
acid

Mnhmg soddn and Rock salt

() Buking soda and Rochelie's

(M) Haking sodn und Maleie neid

During combustion of Glucose
(CeHy,04). which products nre
formed ?

1AL Carbon dioxade (€0, and
Hydrogen Peroxide tH,0,)

(I Carbon dioxide (CO,) and

(€ Carbon dhioxide 1CO,). Carbon
Monoxude (CO) and Water
(HLO) vapours

(M Al of the above

Silver muetnl made jewellery
bescome dark, copper made utensils

become green due to which of the

follovwMmp process ?
Corroviort

() Reduction
(Cr Dimorphism

(D) Cupellation
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wesifam um

(€1 Fes0, ™ famm s faen
W
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Rk

famaa Wi

61
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53

119

Which of the fullowing metal will

show least reactivity with Water 7

w Caleium (Cn)

Br Sodium (Nal
ICY Aluminium (AD

(DY Copper (Cud

Generally Sulphide ores are .
tonverled into Metnl oxide by

which of the fallowing processes ?
(A} Caleination

Uﬂ/ﬂmuling

(C1 Smelting

(D Leaching

Which of the following pairs will ?
give displacement reaction ?

(A1 NaCl solution and Copper
metal

(R MgCl, solution
Aluminium metal

and

" FeS0, solution pnd Silver
metnl

[ AgNO, selution nnd Copper
metnl

PTO
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A5,

a7

120

seriey
%l/Slln-r

The durk zone of candle Mlnme j

(A) outer zone of rump[“

combustion

‘H/mm- of partial combustion

() mmner zone

i none of the above

Which one of the following is not

an element of the second transition

»

l!j’ ftful,"ul- m
(C) Platinum

1D Zirconium

The term Cutalyst was introduced
by .

(A Rutherford

(B) Hoyle

Mh*r:rtiuu

(D Charles

Iron obtained from blast furnace
5 :

A} Wrought iron

tB) Cast iron

U Pigaron

(D Steel



v, FEfatmn o 8 9w o SRR 58  Which ane of the following is an

swhawthy ¢ > electruphilic reagent ?
tAl CN (A1 N~
(B RO 1By ROH
i AlCl, t AICH,
(D) NI, Dy NH,

. ¥ owd A s e R |y g

99 Anelement belongs to group 13 of

wie W A, M 2R abmrr

the periodic table Its oxide should
s i W e 0

have the formula as -

tA) XO AT XO

B X,0 tH N,0

¢ X,0, 1€y X,0,

i X0, M.O_I -

o, AU A WA U wmtaE 9w g 0 60.  Which of the lollowing is o

mulecular disense ?
IAY TECH]

(Al Allergy
1B) TR0

(B Measlvg
ke W Anavmia
D) Fm D) Cancer

(211 P.T.O.

J.2006-Series-B -



SECTION-III : BOTANY / ZOOLOGY

Gl FERTEER @n R . What is Hydroponies ?
(A) THI (A) Water
(B) M1 WO& W& W o (Bf Solution containing all
nutricnts
IC) T (C) Green house
(D) %9 (D) Liquid
63 AEfAEE GSRETERIGECNT 4 a9 @ Cyclic photophosphorylation
t: synthesises:
(A) Fad ATP W only ATP -
(B) ATP 3 NADPII (B} ATP and NADPH ‘éw
(C) ATP 1t FADIL, - AWM .
(D) 3‘1’1'1' A w3 AR f{l@ of above
61, Genus represents :
(A) Anindividual plant or animal
(B) A collection of plants or
unimuls
ID/Gmup ulclosely related species
of plant or animals
(D) None of these
6. W TR W e £ 64. Smallest animal virusis -
(A) |2 ELBLIER ﬁm"ﬂ (A) Foot and mouth virus
(B) Wi ﬁmﬂ] ) (B) Pox virus
(C) ?ﬁ“ ':nfrn: LS o (C) Tobacco mosaic satellite
(D) fAgm femem feramy (b/) Citrus tristeza virus
12006-Series B (22)
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(A) BWt g g

(B TifEma

() wrm Them WE T ¥
(D) Frgteres  9TF-TAA R
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(A) 9T99 @3
(B) TMem WA

(Cy =M a9
(D) gfrsem w4

WITAT T N ATA ¥ 2
(A e,
By afrerefrm
(1 myreETzfera

DI Y " OWE T

1A Ao Sfefem
(B Yo afwizm
(€1 wfifmrm afefsm

(I TmE #W

@ A connective

L
38 What is common between e
Platypus and Kangaroo ?
(A) Oviparity
@1" an\cal:herm}'
& T:lul_l_tlt::.:_j:m'fa . taid
(1 )] Functional pﬁﬁt'nn

mcks -
@ Venom of Cobr® ot

(A Digestive®¥
system

stem

(B) Immun®
(Qf Nervous system

(D) Circulatery gystem

Lissue sheath

covering i muscle ibre is called :

(A) Endomysium

(B) Perimysium

\K{ Epimysium

(D) None of above

G6  Forests of Nephridiiare:
IA) Septal nephri lia
(B Integumentary nephridia

(C) Pharvagenl nephridia

W7 Al shiove



7'.

FfEa W WY R
(A) CygH.OsN, Mg
(B) Oyl 05N, Mg
(€) Cy,H;,O N, Mg
(D) CyyH2,0,N, Mg

wifwreTEl TAgerd #14 W € 2
(Al FETTHT THTTAA

(B F2TM wEIEEA

(C) ®A | 9T WR AN URIETA

(D) WM § g qR A UHEera

zazrEfdm w1 ad 7
(A) B{| ¥ 738 ¥ 19 W prn
(B) ¥%7 W WWT=1 W WM ® WA

C1vEm F B am F e o
0 TEHR

m\ﬁﬂmﬁﬂﬂﬂmmw

69.

70.

)|

72

Who proposed Law of Constant

chromosome number ?
(A) Outdet

lﬂfl Strasburger

(C) Flemming

(D) Rudolf Virchow

What is formula of Chlorophyll

P

(A1 CygHz06N, Me
(B) CygHyo05N Mg
(C) CyyHyg06N,Mg
(D) CygHzpO5N, Mg

Strongest amylase s :
i Salivary amylase
(B) Gastric amylase
(C) Intestinal amylase

(D) Pancreatic amylase

Dextrocardia means :

téf heart present on right side of
man

(B) enlargement of heart

(C) inadequate blood flow toa part
of heart

(D) inflammation of pericardium
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76.

(A) 800 fa=t,
(B) 1500 fas, .
(C) 900 fi =,
(D) 1200 fo=,

(A) 26

(B) 28

(C) a0
(D) 20

74

75.

76

@ Kidney receive about ........

per minute :

(A) 800 m) of bleod
(B) 1500 ml of blood
(C) 900 ml of blood
(D) 1200 ml of blood

man skull
Number of bones in hu

15

Ay 26
(B) 28
(C) 60

(D2 29

Pecten, a comb-like struclure is

found in the eye of :
(A) Fish

(B) Frog

@7 Birds

(DY Mammals

Which hormone is responsible for

milk ejection after the birth
of balby ?

(A) Pmﬂesterune

(BY Prolactin
(C) Oxytocin
(D) Estrogen



1.

78.

79.

80.

Ta A A aet v fgs 7
T e A O B .

(A) 3] # wn T

(B) Frd=a wt mfug ar
(©) st #
D) 3T F dw wy

FH g0 WA wfren wer §
few® g Fronfen & o £ 2
(A) T-feiwrarge

(B) B-fofwmmmz

(C) wramane
(D) &1 T wforwm

VAM 9 & 2 .
(A) W *_lﬁ'zl'i"’l

(B) * wram
(C) wwsital wn

(D) ¥viwmfew v

ufgaa i el = mewd
I|Em .

(A) wEsifam

(B) wiwfarm

(C) wrtfam

(D) YRA-wigter

32006 Series-B

77.

78

79.

(26)

Oral contraceptives preven
pregnancy by :

(A) killing the ovum

{B) blocking fertilization

(C) preventing ovulation

(D) preventing implantation

The cell mediated immunity inside

the human body is carried out by
A1 T-lymphocytes

(B) B-lymphocytes

(C) Thrombocytes

(D) Erythrocytes

VAM contains :

(A) symbiotic bacteria
(B) saprophytic bacteria
(Ch symbiotic fungi

(D) saprophytic fungi

Crocodile and bird association is an
example of :

(A) symbiosis
(B) predation
(C) parasitism

‘3'1 proto-cooperation



2.

w0 w1 v sfeni wa A v )
agyifea st & 2

(A) Faa T gEN
(B) Hften @ wa wEW

(C) Wrem & +ren wEHA

(D) | HI

iR (dre-dwnma|) W Y
smen ¥ fFad ol aF T@ 9 FHO
2?

(A) 5 a9

(B) 2 =d

(C) 1.5 =d

(D) 4 a4

81.

82.

83.

The green leaves of plants .bsﬂl'b
which of the following in the vi*i®'®

spectrum ?
(A) only green light
.Xﬁ} blue and red -light
(C). yellow and blue light
(D) whole visible spectTvm

For how many years the yeast

(saccharomyces) can be in dry

state?
(A) Oyears
(B) 2years

/C) 1.5 years

(D) 4 years

Name the hormone that controls
the metamorphosis in Frog :
(A)-Adrenaline

(B) Insulin

(C) Thyroxine

(D) Growth hormone

P.T.O.



fthe following is a birg Ny

iR TG C T R I —'Y Which o
" il ufirrs v wrw ":'}‘Fm A o virus, which is also knowp W
t? Avian Ou virus?
(A) HGN, W igN,
(B) 1Ny (B) 11Ny
(C) HINI IIINI
(D) NyHg (D) N,H,
(A) " following :
(A) Cow
(B) g
LBJ/E;u[fa‘ﬂ
() & (C) Goat
(D) % (D) Sheep

86. TR W WTN WA Y W™ W W By weight what is Percentag
fed wfma w1 2 2 blood in human body 9
(A) 10% (A) 10%

(B) 17% (B) V7%
(C) 07% d 07%
(D) Jo% (D) 16%

8.  fFm s & om oom TS | | 87, Which organ is knows ¥
YIU wE A R 2 Eraveyard of RBC's:
(A) TFm (A) Liver
(B) Hummg (B) Stomach
(©) yrgmy (C) Thymus
(D) it (ﬂ/épleen

32006 Series.B (28)



89,

90.

grra it A @ femd Awm
(ywwToy) W ow ® 7

(A) 10 &1
(B) 5§ =g
(C) 20 ®rw

(D) 15 &ma

A gan F faare gro @ W |

sm ogwifam wm ¢ 2
(A) ufees

B g,

(C) smmm

| (D) wiel

J-2006-Series-B

(29)

89.

88.  Which organ of the human body %

metabolically most active org®™ v
{A) Liver
P Small Intestine

(C) Kidney
fﬂ) Heart

Approximately how many Nephrons
are present in human body?

(A' 10 Lac
(B) 5 Lac
(C) 20 Lac

(D) 15 Lac

The bacteria for Japanese fever

affect which organ of body ?

(A Brain
(B) Liver

(C) Stomach

(D) Eyes

P.T.0.



. 92.

93‘

94.

I-2006-Series-B

T Uw R )

(A) 38

(B) wst

(C) wEt-- ‘
O ¥ # wif F@

R A W@ wE v e

(A) swiHrawiaT
(B) wWwtaetiar

(C) ®amgimy

(D) TheiEwT

W fawn = femd w2
(A) stren

(B) v =l

(C) Wd |

(D) wivai

mmnﬁm“ﬁm
@ ¢ 2

(A) Mgz

(B) T grfsitamee

(C) e wiegz

(D) 3yts |t

91

92

23

4.

(30)

What is a Pinus ?

e

(B) Shrub

(C) Herb
(D) None of these

The damaged Ozone layer i5
situated in :

(A) lonosphere

(B) Mesosphere

(C/S.tratouphm
(D) Troposphere

The
introduced by :

(A) Odum

(BY"A G. Tansley
(C) Stanley

(D) Maheshwari

term Ecosystem was

The plants absorh nitrogen in

which form ?
(A) Nitrate
(B) Nitrogen trioxide

€ .l\!itrugan phosphate
YB(AJI of the above



9s. frofefem dnofrl @ 3% T | 97 One of the following is correct
mateh for disease and ¢heir

ﬂﬂﬂﬂmi:

causative agent :

(A) ugn - AfFed

- (A) AIDS - Bacillus
Sl (B) Malaria - Trypanosom3
(©) Feys - W M‘yphaid-mmnuua
@) TR = W (D) Gonorrhoea - Virus

96. MM wH W WYz fE A #4 | g6, If&man&omseacuuslﬂﬂestﬂhigh
A W ow@ g, W mountain peak, then his

(A) 3H& vEHA T3 AEAM (A) breathing will increase

" (B) breathing will decrease
(B) 91 YaHA WZ =M
(C) breathing will remain
(C) THF TARA UF AW TEM i

(D) 38®1 7497 TH AEM (D) breathing will stop

97. wmatgwez W ®Wawa f&@ ®9 W | 97 Translocation of Carbohydrates

v % 7 e e
(A) TTHTA (A) Glucose
(B) Hreer (B) Maltose
(C) TEEIH (©) Galactose
(D) HFH Wé; —_—
J.2006-Series-B (31) pT.0.



98.

99.

100,

2006-Series-B

Aband W went whh ¢ .

W) R T ww wrEd
(B) T8 ¥X ww weerd £
(©) T W v
(D) Bl (A) aitt (B)

T i F few 92 W) gmifen
fen o & 2

(A) 83, off, o
(B) 1-7
(©) L&l st )2

D) =7t 12 =2
ﬁ%mﬁﬁﬂﬂmmm
T

(A) dvd=rrdt zm

(B) w=isisdifan gm

() Hfew v=ifrafin zm

(D) MRI g

|
- ntraction length
98., During muscle €0 |

" of A-band !
(A) change to smaller extent

(B) change to larger extent

\(W/ remains unchanged

(D) Both (A)and (B)

99.  Which pairs are the floating ribs

in human body ?
(4 8th, Oth, 10th
(B) 1.7

(C) 11th and 12th

(D) All the 12 pairs

@ Pre-natal defects in the foctus can
be detected by

lA, annmlfnp"n

'}
(1 Amniocentesis

(C) Genetic engineering

(DY MRI

(32)
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1,

T4,

J.2006-Series-B

R e €
(A) T W
(B) faew @is1 W

(C) gl ®
D) wowll

kacieare RS ORI D
(A1 PAN

By s

(C) FEgrm e
DI WFER I

fram = @ m fren wud fem
TFA @ Walea R o)

tA) BTy -

(B) 9 AT

IC) 9T ST

(D FrywIdETn

e w0 frem Fa e @ w
whred ¥ e F
tA) gren fas
iB) A =
IC) gy o

'

101,

102

103

(D) #ren fa=

133)

Pebrine is a discase of :
(A) Cattle
(B) Silkworm

(C) Hen

I{Pilh

Phatochemical smog doesn’t

rontain ;

AT PAN
(B) Ozone
(C) Nitrogen dioxide

(D) Carbon dioxide

The function of contral of rate of
heart beat is controlled by which
part of braan ?

A} Cerebrum
(B Pons varoli

(€)Y Medulla sblongata
(D) Hypothalamus

An area of the Retina which
doesn’t have rods and cones are :
A yellow spot

(B} red spot

(CY blind spot

(D) blue spot

P.T.O.



. A fem ® wmfm 2

inT,

g.2006-SeriesB

(A) Al B
(B) W&l |
1 #2717 R/

(D) ¥ A K

w2 {HiaErdA ® T w2
1AL FTTA TER
(B T A
¢ sfrEeE

Dy TR, FEA

g W faa e w1 ogre oo
v o

1A fefrrorersz

(B) #7m % Ry

1Cr T WEA A ’

D T T

FUA H WAR T W W4T w7
(A T

(B) FHZ S gwTm

(C) T

) v A W oA

@ Pomology is the study of :

107

18

L34)

Mruits

iB) Flowers
(C) Roots

(D) Leaves

Futher of Plant Physiology

Q)/Stephm Hales

(B} Robert Koch
' Anstotle

WD GJ Mendel

Plants grow in lower light

intensities are called :

M!lrliuphrtﬂ

(B) long day plant
(C' shade tolerant

D) day neutral plant

Which of the lollowing are largest
decomposery of forest ?

(A) Lion

\-‘{Mnldl and Mushrooms
Y Yeast
(' None of above



@,- o e # fem wm ® s frem

(AL

i & 2

(A) ®o1 wege ¥ a8 W
(B) wet wgl A

W) @ Al 1

(D) q& @A A

AE T W 55%-G0" Jfzays e frags
0 famg s 9 90 o weA, W
T ¥

1A) 7

(B) ¥®HEA

(C) fesn TEn

D 7™ A

@ “10 gfewm” foum fewa ®aw

J.2006-Serics-B

™

(A) weEtATa sngifera

(B) 13- g=tfam syt

) A= mm ¥ A T W
r 6 WA T g
a #

D) ¢, e § I T
dm @ FA wd EA

(35)

109.  Which part of Poppy plant yields

110

-

Opium?
,yr/l.ﬂ.ex from unripe capsules
(B) Dried roots

(C) Dried leaves

(D) Dried seeds

The line which Ii_rs bt’l‘lﬁ:ffﬂ
55°.60" latitude cannot grow trees
b:-yond it 15 called :

iA) Terai
lﬂﬂ’i’.rul.ane
iIC) Timber line

(D Wall line

The “10 percent law” is related to

(A} Mendelian genetics
(B Non Mendelian genetics

Mnrrgy transfer from lower

trophic level Lo higher trophic

level

1] Enll'[y- consumption during

Photosynthesis in C, plant

P.T.O.



112

@}) frm T ¥ wam g Aa fatae wd

r.-_'ﬂnG-S‘-"'ics'ﬂ

THIF A TH AT T OFH EN N
I9EIN @ A 2, 39 f 0 o9 fan
0 F= o\ N e fam wmen 2

(A) TT wifeiyiy

(B A

) A TFTA

(D Affes

ol ¢ 2

(A ATATA

(B) W3 WA
\

IC) ¥

(D1 WA

TH TR W Ay gann 7 rAfadi i
(A) IUCN
(31 ICFRE
(C1 UNEP

(o WWF

(361

Taxol thal is used as an anticancer

drug is extracted from bark of
which of the following plants ?

(A) Papaver somniferum
rU/{Jumim-

W T, baccaln

DY Penicillivm

Which of the following countries

has the highest biodiversity 7

l‘ﬂ)/llrnzi]

(1Y) South Aflricn
(C) Russin

(D Indhia

The organisation which publishes

- The Red List of Species s :
@/ UGN

(8) ICFRE

() UNEF

(D) WWF



A W B TAE W AT A T
am 7 WA wR @ g 9w

mr?

s

(A) ATR T W3
(B1 s wTq A I
"y ntufzs A

18 TR i Bt Bl S £+

wrrAEae 98 A fe ) et TeeR
7

(A 70

B mimm

(i e

(D TTHEA i

"el Ao P
(A FTEETER 7w - W

D

115 \.'vla Hmen a upnngy tissue on roots
IS churnrtrru!m of w hlch roots 7

(A1 Floating roots

w(ﬁﬁmululnn' roots

(1 Parasitic ronts

(r Epiphytic roots

Phylloclade is modification of

.(A‘I/Su.-m

i Petiole
i1 Root

@

D Al the above

@ Select the correct mateh ¢

(A Colchicum autumnale-
Solanaceae

BT Petunia - Solanaceae
(C) Glorwsa - Fabiceae

(I Trifolium - Lilisceae

Placentu and Pericarp are both
edible portions in .
A Apple

1 37

Pi T‘o-



9. sieren wfam @ ¢ . 119. Osmophores secrete :

(A) THF B Salts

(B} @™ : B food
(IC) wFl &n
DI =9 A Wi oAy

" 1C) essential oil

1) None of these

1200 7 W = wmwm zg Fim 120 Osmolic pressure of pure w

L IS

@ o w0

(B 1 B 1

(C) 7= A &m (01 less than Zero
i 1oy

(100
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PRADESH CURRENT AFFM?I% & ENVIRONMENTAL ST

fmraav‘mi;ﬁmhmﬁmﬁ
I e ¢ o)

(Ar Forgen

@ wrmn

iC) =

(D) fawmag

"TwE fen fomm ) afaz fren
U

o rem

(B) ¥
IC) fandn

(D @

fearam wen @ s “
(A 28 Tﬂw«:

IBr l«. 1%

(G 26 AN, 19s)
D | e 19660

S g P —
Mm q
\B) /M §
(Cy wTAM §

(D) fanm «

06-Series-B

121

23,

(39)

122.

124,

1AL
UDIES

mnch ﬁ]

: - of Hi
Which distriet lation ?

Pradesh has highest popu
iA) Shimla

(B) Kangra

(C) Solan

(D) Bilaspur

“Chakli” was the fumous Coin of

which State V
M;} Chamba

When did Himachal Pradesh
become Vishal Himachal ?

(AV Jan. 25,1971

(Bi April. 15, 1948

(C) Jan, 26, 1952

(DY Nov. 1, 1966

"Pather-ka-khel” ig played at

--------------------------

(A) Halog
(B) Galog

IC) Karsog
(D) Theog

P.T.O.



125,

126.

127.

| 28.

&% @ 3 ¥ 3 fvn v 8 v
T R 2
&/ T
(B) feuras
(C) T
(D) faen

vfa:“u’\wunﬁm"ﬁwnm
LI A

(A) THTYS
1 e

(C) wemre
(D) wegyzy

feemg framm & drume @l 4 9
w/nmin'a::
(B) i s we
(C) Ty g
(D) TN T W=

feowa wgn w1 daww fewd el
fremiy ¢ 2

(A) 55.X65
(BY 55,673
(C) 55836
(D) §5.645 '

(40)

125.

126.

127.

128.

Tropic of Cancer passes
which of the following Sts

(A) Gujrat
(B) Himachal
(C) Orrisa
(D) Bihar

In which State the f,
"Somnath Temple” is situat
(A) Rajasthan

(B) Gujrat

(C) Maharastra

(D) Madhya Pradesh

Who was the founder of
province Bilaspur ?

(A) Raja Bir Chand
(B) Ruja Ajit Chand
(C) Raja Megh Chand
(D) Raja Rattan Chand

How many Sq. Kilometer is
area of the Himachal Pradesh
lA) 55,865
(B) 55,673
(C) 55836
(D 55645



120. WA % W WM % wyoew g 2 | 129, When did Railway begin in India ?

(A) 1852 ¢ {A) 1852 A.D.
(Bf 1x53 % (B) 1853A.D.
(C) 1854 §%. (C) 1854 A.D.
(D) 1855 1§ (D) 1855A.D.

What is the name of hills of the

~ 130. T faen ) wefedi w1 e m # 2 | 130
Una district 7

) {A) Bheetari Shimla
BT frrerteve (B) Shivalik

\C) srmaeht iC) Aravali

(D) rdae (D) Peer Panjal

131, fearm@ wéa %1 wad = 70 &9 | 131, Which is the longest river in

wWeo? Himachal Pradesh ?
Ut e (A) Satlyj

(B) =R (B) Beas

\Cr Fem (C) Chenab '
Dy e (D) Ravi

132, WA WAY WIE O wWwEw ? | 139, When did terrorists attack on the
(A) 1) femm, 2000 Indian Parliament ?

(B) 13 fem=wr, 2002 ‘:’ Dec. 13, 2000
(B) Dec. 13, 2002
IC) 13 fewem, 2001 .

(C) Dec. 13, 2001
(D) 13 fea=rt, 2003 (D) Dee. 13, 2003

2008-Series-B (41) PT.O.
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M,

A8,

ISRO 3 w=mm3-2 wa @fa fam

o, ?
w2

(B) 22

T, 2019
WTR, 2019
(C) 22 faaman, 2049
(D} o Fre=w, 2009

e = 2

(A) =1e ® wergs T8
(B) T [& @1 A

(C) TF A9 W oam

1p'1ﬂﬂﬂaﬁ'ﬁll|='litjﬂ

A fem Zn & qm g 7
(A) wTTa '
'ﬂ(' :

(Cr 3ze

(D) wfwwm

“fova Wt feeem v &

(X)) 3} 3wEy

(B) IS FpA
(C) § TaER

(D1 3 91

anc Qories-B

(42)

133. When did ISRO launcl

134,

135.

136

Chandraynan-2 ?

(A) 22 July, 2019

(B) 22 August, 2019
(C) 22 September, 2019
(D) 6 September, 2019

What is “Chur Chandni® ?
(A) A tributary of Beas
(B) The name of a fair

(C) The name of a peak
(D) None of these

Lira is the currency of which
country ?

(Al India
(B) Bangladesh
(C) Italy

(D) Pakistan

“World nature day” is celebrated
(A) 3rd Oct.

(B} 15th Oet.

IC) 5th Nov.

(D) 5th June
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AR,

139,

<)

2006-Series-B

adur § “Hfa smm" & Imean
8 ?

(A) tfEn A fae

(B wifar wnfgm

(@) sim faren

(/T wEn

fon faen 4§ ven @ fAis ¥ = m
t?

(A) FHEITY
(B) =&l

Oy Taammq
(D farsen

siefr® viE) fm W Ag@ w0 aen
ween fewrael ®1 w ?

W s e

(B) favasia fag

(C) wrerdla fee

(D1 fawwidima fog

frarae wen & fom fast o o
sifiew shaifier ol & 2
A) 39 8§

(B) #81 ¥

\of are o

(D foren o

137.

138.

139,

140.

(43)

Who is the current deputy
Chairman of Niti Aayog ?

{A) Harivansh Narayan Singh
(B) Arvind Pangariya

(C1 Om Birla

(D) Rajiv Kumar

In which district AIIMS is being
constructed ?

(A) Hamirpur

(B} Mandi

(C) Bilaspur

(D Shimla

Whe was the first Himachali, who
lead the Olympic Hockey Team ?
(A) Ajeet Singh

(B) Vishwajeet Singh

(C) Charanjeet Singh

(D) Vikramjeet Singh

In which distriet of Himachal
Pradesh there are most Industrial
units?

(A) Una
(B) Kangra
(C) Solan
(D1 Shimla

P.T.O.



i, Rt ¥ ® fER wefn R L River "Ravi” is known by which o

arm Fm £ ? the following Cultyral name?
m/ﬂlﬂ" (A) [ravati
(8 faarm (B) Vipasha
) Frem (C) Vitasta
(D1 TR iD) Shtudri

142 “FwEm @@ W8 ® f‘lﬂ WA | 142, “Kamrunag Lake” of Mandi is

w arvim o fon £ 2 situated in which of its Tehsil ?
(Al dAM (A) Jatosh
(B) wTENTZ (B) Sarkaghat
() T2 IC) Chachot
ln/t.'m'm (D) Karsog
143, wFm-frem @ 3w A fa Kulka-Shimla railway track
T‘i t? consists of how many tunnels ?
(A) 13 (A) 105
R 103 (B) 103
e 100 C) 100
Dy 110

D 110

1 WM ¥ ngm wm fem T R E1ad 144, The terrestrial boundary of India

o is not bordered with
m*(sh AN IA) Sri Lanka

(B) waun (BI Mayanmar

ICy q231 (Ch Bhutl.:rl

() wFEmiAEm (D! Afghanistan

1 4006-Series-B (44)



(B) & faaz 56 ¥&T
Wi fr2 b6 WEE

pf & farz 156 WEY .

mﬂwﬁmmﬂ:tﬁh
e wrdd 0 ® g fem g
q walun € 7 ‘ >
m/:m { 3 '

B) 2250 3T

(€ Mo0 3%

o 2500 § 5 o

“’sﬁrin.ﬂ

(45

145.

146

147.

148

When did Telangana, the 29th
Stote of India come into being ?

(A} 1990 AD.
(B) 2005 AD.
(C) 2009 AD.
(D) 2014 AD

Which channel separates

Andaman archipelago from
Nicobar archipelago ?

(A) 10 degree channel

(B) 9 degree channel

(C) 11 degree channel
(D) 12 degree channel

What time do sun rays 'l:.lk! to
reach the earth ?

(A) 8m 30 luu:“;","'f

(B) 8m 56 m

(¢ 8m 16.6 sec

(D) 8 m 156 sec

The ruins of civilisutions found at
the excavation site st Harappo to
which peried uccording to radio
carbon datings ?

(A) 2350 BC

(B1 2250 BC

() 2400 BC

(D 2500 BC

P.T.0.
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